
8/8/23, 11:19 AM Homelite GC80922 Pressure Washer Parts Diagram for General Assembly

https://www.jackssmallengines.com/jacks-parts-lookup/manufacturer/homelite/g-clean/pressure-washers/gc80922-pressure-washer/general-assembly# 1/6

Homelite GC80922 Pressure Washer General Assembly Parts Diagram

Help with Jack's Parts Lookup

https://www.jackssmallengines.com/jacks-parts-lookup/help


8/8/23, 11:19 AM Homelite GC80922 Pressure Washer Parts Diagram for General Assembly

https://www.jackssmallengines.com/jacks-parts-lookup/manufacturer/homelite/g-clean/pressure-washers/gc80922-pressure-washer/general-assembly# 2/6



8/8/23, 11:19 AM Homelite GC80922 Pressure Washer Parts Diagram for General Assembly

https://www.jackssmallengines.com/jacks-parts-lookup/manufacturer/homelite/g-clean/pressure-washers/gc80922-pressure-washer/general-assembly# 3/6



8/8/23, 11:19 AM Homelite GC80922 Pressure Washer Parts Diagram for General Assembly

https://www.jackssmallengines.com/jacks-parts-lookup/manufacturer/homelite/g-clean/pressure-washers/gc80922-pressure-washer/general-assembly# 4/6

1 661503015 NLA/SCREW M6 X 48 TOR $1.13

2 678774002 NLA/FLANGE NUT M8X1.2 $0.92

3 638128004 WASHER SAE PLAIN 1 4 $0.92

4 679957001 NLA/METAL CAP PAL NUT $1.09

5 308451050 Wheel No Longer Available

6 661505020 NLA/M6 X 16MM FLANGE $0.92

7 310742022 Front Frame Assembly No Longer Available

8 940803018 EMC LABEL $0.90

9 940894004 DANGER LABEL EN FR $1.00

10 561399003 Plastic Chemical Siphon Tube $1.50

11 678169004 Thermal Release Valve $7.00

12 660962003 NLA/FLANGE BOLTHEX M8 $1.57

13 308653093 PUMPVERT 30002.3 ALUM $146.27

14 678243015 LOWER WAND HOLDER $2.14

15 310704021 Main Frame Assembly RH No Longer Available

16 638662027 ENGINE PLATE $15.98

17 310703018 Main Frame Assembly LH No Longer Available

18 678041007 OUTPUT SHAFT KEY 40MM $0.92

20 519313007 HOLDER WAND $1.08

21 310673005 NLA/HOSE NOZZLE HOLDE
(Incl. Key No. 38)

$14.04

22 678610006 NLA/M6 NYLOC NUT $0.92

23 308638051 Handle w/Foam No Longer Available

24 524408018 Quick Start Panel No Longer Available

25 308506014 NLA/WAND ASSY 4500PSI $20.60

26 308760019 Trigger Spray Gun $23.48

27 308835006 25' High Pressure Hose $28.40

28 308706011 Blue Soap Nozzle $10.30

https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/661503015
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/678774002
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/638128004
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/679957001
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/661505020
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/940803018
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/940894004
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/561399003
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/678169004
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/660962003
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308653093
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/678243015
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/638662027
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/678041007
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/519313007
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/310673005
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/678610006
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308506014
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308760019
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308835006
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308706011


8/8/23, 11:19 AM Homelite GC80922 Pressure Washer Parts Diagram for General Assembly

https://www.jackssmallengines.com/jacks-parts-lookup/manufacturer/homelite/g-clean/pressure-washers/gc80922-pressure-washer/general-assembly# 5/6

29 120516002 25° Quick Change Green Nozzle

30 308700012 40° Quick Change White Nozzle $10.30

31 308697014 0° Quick Change Red Nozzle $7.79

32 940608015 Honda Label No Longer Available

33 940676024 Warning Label No Longer Available

34 308452002 Soap Injector Kit $2.80

35 570554002 WEAR PAD NON MARRING $0.92

36 661501001 NLA/SCREW 1 4 20 X 1. $1.13

37 308421004 HANDLE SPRING CLIP $1.00

38 940779100 Performance Label No Longer Available

39 940786029 Label (Wand Logo) No Longer Available

40 940786006 NLA/LABEL BLACKMAX WA $1.40

41 940654084 LABEL, TRIGGER HANDLE $1.40

42 940654089 NLA/LABEL WARNING TRI $1.00

43 941486010 NLA/LABEL G CLEAN INQ $1.40

44 940872003 E85 LABEL $0.98

45 940899002 NLA/NO MIXED GAS LABE $1.00

46 940971067 HANG TAG GC14133 $0.90

47 941550005 NLA/LABEL ENGINE ON O $1.00

48 941531056 Data Label No Longer Available

49 961039005 NLA/STANDARD NOZZLE H $1.40

50 941613003 NLA/RELEASE PRESSURE $1.00

51 940517007 LUBRICANT LABEL EN FR $0.90

52 940680027 LABEL HOT SURFACE WF8 $0.92

53 940947003 NLA/LABEL UL FIRE WAR $0.90

54 961454001 DIPSTICK HANGTAG $1.00

55 940871002 LABEL ADD OIL $0.90

https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/120516002
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308700012
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308697014
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308452002
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/570554002
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/661501001
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308421004
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/940786006
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/940654084
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/940654089
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/941486010
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/940872003
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/940899002
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/940971067
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/941550005
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/961039005
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/941613003
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/940517007
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/940680027
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/940947003
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/961454001
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/940871002


8/8/23, 11:19 AM Homelite GC80922 Pressure Washer Parts Diagram for General Assembly

https://www.jackssmallengines.com/jacks-parts-lookup/manufacturer/homelite/g-clean/pressure-washers/gc80922-pressure-washer/general-assembly# 6/6

56 940705194 Performance Label No Longer Available

57 660923015 TAPPING SCREW M3 X 5 $1.00

58 308662001 Pump Inlet Screen $8.32

59 308862003 Water Outlet Tube $4.43

60 308861003 Inlet Tube $10.96

61 308103015 CHEMICAL SIPHON FILTE $1.16

62 678016002 NLA/NUT,1 4 20 NYLON $1.00

63 310924003 UNLOADER VALVE ASSY, $15.17

NA 308103015 CHEMICAL SIPHON FILTE $1.16

https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/660923015
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308662001
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308862003
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308861003
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308103015
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/678016002
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/310924003
https://www.jackssmallengines.com/jacks-parts-lookup/part/homelite/308103015

